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1933

1941

1945

1946

coffee

fudge ripple

neapolitan

rocky road

mad scientist

vampire

werewolf

zombie

Wedding Years First Names Costumes Ice Cream

1933

1941

1945

1946

1. Of the person who enjoys fudge ripple ice cream and the trick-or-treater who dressed up as a zombie, one got
married in 1941 and the other got married in 1945.

2. The person married in 1933 is not Saul.

3. The person who enjoys fudge ripple ice cream dressed up as a werewolf.

4. Either the person who enjoys fudge ripple ice cream or the person who enjoys neapolitan ice cream is Saul.

5. The person who enjoys coffee ice cream didn't dress up as a mad scientist and is not Aubree.

6. The person married in 1941 is not Cindy.

7. The trick-or-treater who dressed up as a werewolf is Saul.

8. Spencer doesn't like rocky road ice cream and didn't dress up as a mad scientist.

9. The person who enjoys neapolitan ice cream didn't dress up as a vampire.

10. The person who enjoys rocky road ice cream got married after the trick-or-treater who dressed up as a werewolf.

11. The person who enjoys neapolitan ice cream got married after Aubree.
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